H—4)LAA0%5 Vol 12T+

253 K-08-3 [D6Xx13 BB D6x13 & 28
254 K-08-3 [D6Xx13 BB D6x13 & 28
254 K-08-3 [D6Xx13 BB D6x13 & 28
254 K-08-3 [D6Xx13 BB D6x13 & 28
254 K-08-3 [D8Xx13 BB D8x13 & 36
300/ K-01-1 [262.50.368 by Ib—LiN-Y AS & 150
300] K-01-2 [262.50.390 h JL—Ln'—Y ASR 1@ 180
300| K-01-3 [262.50.359 9 WRLbN—=Y AS & 150
301| K-02-1 |262.49.365 K9 L-LiN—Y EH & 110
301 K-02-2 |262.49.367 h JL—Ln'—Y EHS 1@ 160
301| K-02-3 [262.51.380 rh ToUH WIL—LiN=Y AD & 220
301| K-02-4 [262.49.356 Ky WRbN=Y 9974 & 110
302 Kk-03 [46080 LTI 7 & 260
303| K-04-1 |262.87.041 %9799 685 1@ 740
303| K-04-1 [262.87.042 YXY7499R 1545 & 760
303| K-04-2 [262.87.190 XVI9IR DN =%v97" TV & 76
303| K-04-2 |262.87.390 IXVMIIR DN —%v97" 7799 & 76
303| K-04-2 [262.87.790 XVI9IR AN —Fvy7" KIMb & 76
303] K-04-3 [262.96.211 ##3A1494— 65mm 1@ 170
303] K-04-3 [262.96.220 1H3A24494—150mm & 210
303| K-04-4 [262.86.190 XVI9IR DN =%v97" TV & 60
303| K-04-4 [262.86.390 XVMIIR DN —%v97" 7799 & 60
303| K-04-4 [262.86.790 XVI9IR AN —Fvy7" KIMb & 60
304| K-04-2 [262.87.190 XVI9IR DN —%v97" TV & 64
304| K-04-2 |262.87.390 XVMIIR WN—%v97" 7799 & 64
304| K-04-2 [262.87.790 IXVI9IR AN —Fvy7" KIMb & 64
304| K-05-1 [262.87.603 X299 R =9y 1& 300
304| K-05-2 [262.87.931 EEER VS35 16 %35 1& 136
304| K-05-2 |262.87.932 EER VS35 16 X 55 1& 164
304| K-05-3 [262.87.901 EER VS35 M6 % 35 1& 120
304| K-05-3 [262.87.902 EHER VS35 M6 X 55 & 146
304| K-05-3 [262.87.911 EEERIVIS35 M8 x 35 & 120
304| K-05-3 [262.87.912 EHER VS35 M8 % 55 1& 146
305| K-10-1 |[262.53.300 9)y7'Karys— TERN-Y & 100
305| K-10-1 [262.53.310 D)y7'Karys— EEN-Y & 70
305/ K-10-2 [267.90.000 A9k 0 (1000 ALY) A 11,600
305| K-10-2 [267.90.010 E'Zfyk 10 (1000{EAY) e 11,600
305/ K-10-2 [267.90.020 E'Rfyk 20 (1000{EAY) e 11,600
306| K-16-1 |574331 — 576418 F31/DF500Q (PLUS) & 345,000
306] K-16-2 |498899 N32/F97°EybDS tyh 97,620
307| K-16-7 [493487 MIAAR N = 78 25,300
307 K-16-10 (495666 NIV IIVR e 13,096
307] K-16-3 |494938 N/F97 A —BRF E-FH (T RT VAN YSEE) 5% 30mm  (3001E) nNyh 7,140

Circle




H—4)LAA0%5 Vol 12T+
[~~~ T+ [ & [ && | #f& [ @ |

307 K-16-3 [494939 N2/F9T A —HRF E-FH(T (AT LANYYEE] 6 x 40mm (1901E) Nyl 7,140
307 K-16-3 [494940 N2/F9T A —HRF E-FH(T (AT VAN YYEE] 8 x 40mm (1301E) Nyl 7,140
307 K-16-3 [494941 N2/FyT A —HRF E-FH(T (AT VAN YHEE] 8 x 50mm (1001E) nNyY 7,140
307 K-16-3 [494942 N2/FyT A —HRF E-FH(T (AT LANYHEE] 10 x 50mm  (851E) nNYY 7,140
307 K-16-3 [495661 N2/FyT A —HRF E-FH(T (AT VAN YYEE] 4x 20mm  (4501E) Nyl 7,140
307 K-16-4 [493296 NFyT A —HRA E-FMFER%E) 5% 30mm  (180018) & 37,050
307| K-16-4 |493297 N3/Fy7° A — R E-FH({EMFE]) 6 x 40mm (1140{8) £ 37,050
307| K-16-4 (493298 N3/F972 —HBFR E-FH(FER%E) 8 x 40mm (7801) #a 37,050
3071 K-16-4 (493299 N3/F97'2 —HEFR E-FH(#ER%E) 8 x 50mm (60018 7 37,050
307 K-16-4 [493300 NFYT A —HRA E-FMFER%E) 10 x50mm (5108) & 37,050
307] K-16-4 |498686 F3/FYTA —HR R E—F4F 0U9Fy7" 8 x 750mm  (361E]) & 37,050
307| K-16-5 |494859 N2/F97°R2 THATYTH YiK'#F 5x 30mm  (9001E) 55 44,050
307| K-16-5 |494860 N2/F97°R2 THATYTH YiK'#F 6 x 40mm  (5701E) 55 44,050
307| K-16-5 |494861 N2/F97°R2 THATYTH YiK'#F 8 x 40mm  (39018) 55 44,050
307| K-16-5 |494862 N2/F97°R2 THATYTH YiK'#F 8 x 50mm  (30018) 55 44,050
307| K-16-5 494863 N3/F97°A2 THATYT R ViR At 10 x 50mm (25548 55 44,050
307| K-16-6 [493490 F3/hv4— HD D5 NL20 i\ 16,660
307| K-16-6 (493491 F3/hyh— HW D6 NL28 i\ 16,960
307| K-16-6 [493492 F3/hyh— HW D8 NL28 i\ 17,710
307| K-16-6 |493493 M3/hy#— HW D10 NL28 & 19,940
307| K-16-6 [495663 F3/h98— HW D4 NL11 i\ 19,500
307/ K-16-8 [498590 AR = 7 27,240
307| K-16-9 (494847 NN VITVA 7 21,430
308] K-17-1 (201366 F32/DF500 2—F-n2ILY3{UNE /Y MUk 7 52,090
308] K-17-2 [203168 N3/DF500 I—F—N#ILY 3V YATAK—LY (Vb i\ 42,860
308| K-17-3 (203167 F3/DF500 £23—nN 4V 3{URA MY 34Uk 7 34,680
308] K-17-4 (203169 N3/DF500 ty8—-N 3V UM YATAK—IY 3(Ub 7 34,380
309| K=17-10 (203165 F32/DF500 FYNTYTL—b FYNTBYE— & 30,960
309| K=17-11 [203175 }'3/DF500 }3/¥y7" D8 x 36/130BU & 8,340
309| K=17-12 [203176 — 576796 F3/DF500 YATH—1TL 5 40,780
309| K-17-13 [203170 — 576797 F3/DF500 p3/34299—-YATH—tyt tyh 200,900
309| K-17-5 [203171 }3/DF500 An'—%+y7" 7392 (S0fAAY) & 3,570
309| K-17-6 203172 }3/DF500 A —%4y7" Y- (S0fAAY) & 6,520
309] K-17-7 [203173 F3/DF500 in'—%vy7° B (50fAAY) 7 3,570
309| K-17-8 [203174 }3/DF500 A —%y7" J'L— (50fAAY) & 3,570
309] K-17-9 (203164 F3/DF500 MYLTYTL—b MT/arss—-FNYLTAYE— 1& 42,410
310 K=15-1 |t —3P2tyb FAAP-YAT A & 396,000
311] K-15-2 |[P-14 C-100 97299 AP-14 100 nNyY 38,000
311| K-15-2 |267.91.136 97,99 ZAP-14 300 Nyl 114,000
311] K-15-2 [P-10 C-100 97299 AP-10 100 nNY 38,000
311 K-15-2 |267.91.130 9799 ZP-10 300 Nyl 114,000
311| K=15-3 [P-14 T-100 TUY-P-14 £L79707° 100 V] 22,000
311| K=-15-3 [267.91.152 TUY-P-14 £L79707° 300 V] 66,000

Circle



H—4)LAA0%5 Vol 12T+
[~~~ T+ [ & [ && | #f& [ @ |

311| K-15-4 |P-18 D-100 T WYFP-18 27484 9707°= 100 N4 26,000
311| K-15-4 |[267.91.155 T WYFP-18 274M4Y 9707°= 300 N4 78,000
312| K-11-1 [045.00.145 G 10mmy A PCAN—F+v7" #=97'39Y N9 420
312| K-11-1 [045.00.243 d 10mmy A PCAN—F+v7" 739V nyY 420
312] K-11-1 [045.00.341 ¢ 10mmy Al PCAN—F+v7" B N9 450
312| K-11-1 [045.00.540 @ 10mmy A PCAN—F+v7" MM L— N9 450
312| K=11-1 [045.00.743 @ 10mmyXA PCAN—Fvy7" H Nyh 450
312] K-11-2 [045.33.050 o 1ommy A REAN—Fv97" N4V & 160
312] K-11-2 [045.33.150 G 10mmy A REAN—Fv97" A=7W & 160
312] K-11-2 [045.33.350 d1ommyN A REAN—Fvv7" 7'F & 160
312] K-11-2 [045.33.450 o 1ommy Rl REAN—Fv97" -4 & 160
312 K=11-2 [045.33.550 @ 10mm7 XA REAN %47 Tyba & 160
312 K=11-3 [340.41.104 ¢ 35mm EVY hy7 AN —%x97" 759 & 32
312| K-11-3 [340.41.702 @ 35mm VY YT RN -*vv7" B & 32
312| K-11-5 |045.00.158 TIEO RN - pemmiNA 7590 Ny 480
312 K-11-5 |045.00.159 JURH AN - pemmyNAH NUE Nyl 480
312| K-11-5 |045.00.358 JIBEO RN - pemmNA 7R N9 480
312| K-11-5 |045.00.359 TURH AN - pemmyNFH B E nyh 480
312] K-11-5 [045.00.559 FURH AN - pemmIH MM L— Wyl 480
312] K-11-5 [045.00.759 FIBESH RN - pemmyA B Ny 480
313 K-06-3 |[SC-1 N¥'L— tybxyy7” 1 NYL— Nyl 600
313| K-06-3 [SC-10 3%% ybdey7” 10 794 Nyl 600
313| K-06-3 |SC-11 % ybey7” 11 F w9 600
313] K-06-3 [SC-12 N4'-4% TybEry7” 12 N& =9 nNyh 600
313| K-06-3 [SC-13 4¥IBf tybtyy7” 13 445EBE Ny 600
313 K-06-3 [SC-14 #*I4bA'=Y"2 tyhvyy7” 14 KI{MA=Y 2 Nyl 600
313 K-06-3 [SC-15 #'L—-V"a tyhyy7” 15 JL-Ya Nyl 600
313 K-06-3 [SC-16 W ybry7” 16 W Nyl 600
313| K-06-3 [SC-17 A'=V'a tybyy7” 17 A'-Va Nyl 600
313 k-06-3 |SC-18 IN tybEyy7” 18 IN Nyl 600
313 K-06-3 [SC-19 A+ L— tybyy7” 19 AF(ML— Nyl 600
313| K-06-3 |SC-2 5365 tybEyy7” 2 5365 nNyh 600
313] K-06-3 [SC-20 ®D4M'L— tybxyy7” 20 KA L- Nyl 600
313| K-06-3 [SC-21 TH'L- tybdry7” 21 THL- N9 600
313| K-06-3 [SC—22 5364 tybdyy7” 22 5364 N9 600
313 K-06-3 [SC-23 K/'L— ybEry7” 23 KI'L— Nyl 600
313| K-06-3 [SC-24 ¥'L— tybtry7” 24 HL— N9 600
313 K-06-3 [SC-25 H ybkyy7” 25 B Nyl 600
313| K-06-3 [SC-26 ¥EETAHK)- tybfvy7” 26 FBETAH)- N9 600
313| K-06-3 [SC-27 74#")— tybfvy7” 27 TAEKY- N9 600
313| K-06-3 [SC-28 74K-E447° tybfvy7” 28 7AEKY-E447 N9 600
313| K-06-3 [SC-29 F1M)-v by 29 47—V N9 600
313| K-06-3 [SC-3 #F)'L- tybey7” 3 $I - N9 600

Circle



H—4)LHB0O%5 Vol 125E [l 3%
[~ [ v [ && [ &% | & [ fi# |

313| K-06-3 |SC-30 74b7° - tybyy7” 30 AT - Nyh 600
313 K-06-3 |[SC-31~45 ybyy7” 31~45 Nyl -
313| K-06-3 [SC-4 #-99L— tybvy7” 4 B-95L- Ny 600
313| K-06-3 [SC-5 5366 tybyy7” 5 5366 Ny 600
313 k-06-3 |SC-6 2 tybey7” 6 B Nyl 600
313| K-06-3 [SC-7 LB34+7°37Y tybdey7” 7 LBIAMT IV Nyh 600
313| K-06-3 [SC-8 10 tybxyy7” 8 1068 Nyl 600
313] K-06-3 [SC-9 N7'37v wybyy7" 9 N7'59Y Wb 600
313| K=11-4 [045.23.300 PVCHN —F+¢y7 14mmE (531&) Y=t 900
313| K=11-4 [045.23.700 PVCHN —F+¥y7 14mmE (531&) Y=t 900
314| K-06-1 [SB-6X15 by 7w 6% 15 & 392
314| K-06-1 |SB—6X20 tyb ey 7 R ILL 6% 20 & 29
314| K-06-1 [SB-6x26 by 7RI 6% 26 & 29
314| K-06-1 [SB-6x%30 Tybry7 R ILE 6% 30 @ 28
314| K-06-1 |SB—6X35 by 7w I 6% 35 & 30
314| K-06-1 |SB-6X40 tyb ey 7 R ILL 6% 40 & 30
314| K-06-1 [SB-6x45 by 7 R ILL 6% 45 & 34
314| K-06-1 [SB-6x%50 tybry7 KWL 6% 50 & 34
314| K-06-1 [SB-6x%55 b ey 7 R ILL 6% 55 & 34
314| K-06-1 [SB-6x%60 b Ery7 R ILL 6% 60 & 36
314| K-06-1 [SB-6X70 Tybry7 K ILE 6X 70 & 42
314| K-06-2 [SN-6X14 tybry7 Tuk 6% 14 & 72
314| K-06-2 [SN-6%19 Tybdry7Fob 6x19 & 76
314| K-06-4 [SW-1 ¢4 Bty ey 7 79— & 16
314| K-06-4 |SW-1 /I Bty 79— D 1@ 16
314| K-06-4 [SW-1 X Bty 79— K & 16
314| K-06-4 [SW-1 & Bty ey 79— & & 16
314| K-06-4 |SW-2 4 EEEE)— ¢4 & 12
314| K-06-4 [SW-2 5.1 EEEET— 5.1 & 12
315 K-07-1 [JCB-A=%6Xx23 GB JCB-Ax6x23 GB & 62
315 K-07-1 [JCB-A=%6x23 Ni JCB-A+x6X23 Ni & 62
315 K-07-1 [JCB-A=%6Xx30 GB JCB-A%x6x30 GB & 66
315 K-07-1 [JCB-A=6x30 Ni JCB-A=%x6 %30 Ni & 66
315 K-07-1 [JCB-A=%6Xx35 GB JCB-Ax6x35 GB & 72
315 K-07-1 |JCB-A=6 X35 Ni JCB-A=+6 %X 35 Ni & 72
315 K-07-1 [JCB-A=%6Xx40 GB JCB-A=%6 x40 GB & 74
315 K-07-1 [JCB-A=6 x40 Ni JCB-A=%6 x40 Ni & 74
315 K-07-1 [JCB-A=X6Xx45 GB JCB-A*x6x45 GB & 76
315 K-07-1 |JCB-A=6 X 45 Ni JCB-A=*6 X 45 Ni & 76
315 K-07-1 [JCB-A=%6Xx50 GB JCB-A=%x6 x50 GB & 80
315 K-07-1 [JCB-A=6 x50 Ni JCB-A=%6 x50 Ni & 80
315 K-07-1 [JCB-A=%6Xx55 GB JCB-A*x6x55 GB & 80
315| K=07-1 |JCB-A=6 X 55 Ni JCB-A=6 X 55 Ni & 80

Circle




H—4I)Lh%0%5 Vol 125l R

315| K-07-1 [JCB-A=X6Xx60 GB JCB-A=*6 X 60 GB & 90
315 K-07-1 |[JCB-A=6 X 60 Ni JCB-A=*6 X 60 Ni & 90
315| K-07-1 |[JCB-A=*6x70 GB JCB-A=+6x 70 GB & 104
315 K-07-1 |[JCB-A=6x 70 Ni JCB-A=+6 % 70 Ni & 104
315 k-07-1 |JCB-A®6 x 23 GB JCB-A®)6 x 23 GB & 62
315 K=07-1 |JCB-A®S6 x 23 Ni JCB-A®)6 x 23 Ni & 62
315 k-07-1 |JCB-A®6 x 30 GB JCB-A®)6 x 30 GB & 66
315 K=07-1 |JCB-A®6 x 30 Ni JCB-A®)6 x 30 Ni & 66
315 k-07-1 |JCB-A®6 x 35 GB JCB-A®)6 x 35 GB & 72
315 K=07-1 |JCB-A®6 x 35 Ni JCB-A®)6 x 35 Ni & 72
315 k-07-1 |JCB-A®6 x 40 GB JCB-A®)6 x 40 GB & 74
315 K=07-1 |JCB-A®6 x 40 Ni JCB-A®)6 x 40 Ni & 74
315 k=07-1 |JCB-A®6 x 45 GB JCB-A®)6 x 45 GB & 76
315 K=07-1 |JCB-A®6 x 45 Ni JCB-A®)6 x 45 Ni & 76
315 k=07-1 |JCB-A®S6 x50 GB JCB-A®)6 x 50 GB & 80
315 K=07-1 |JCB-A®6 x 50 Ni JCB-A®)6 x 50 Ni & 80
315 k=07-1 |JCB-A®6 x 55 GB JCB-A®)6 x 55 GB & 80
315 K=07-1 |JCB-A®6 x 55 Ni JCB-A®)6 x 55 Ni & 80
315| K-07-1 |[JCB-A®S6 x 60 GB JCB-A®)6 x 60 GB & 90
315| K-07-1 |[JCB-A®6 x 60 Ni JCB-A®)6 % 60 Ni & 90
315| K-07-1 |[JCB-A®S6 % 70 GB JCB-A®)6 x 70 GB & 104
315| K-07-1 |[JCB-A®S6 x 70 Ni JCB-A®)6 x 70 Ni & 104
315] K-07-2 [JCN-AX6x12 GB JCN-AX6Xx12 GB & 62
315 K-07-2 [JCN-AX6X12 Ni JCN-A*+6X12 Ni & 62
315| K-07-2 [JCN-A+6x17 GB JCN-A+6x17 GB & 66
315 K-07-2 [JCN-A=*£6x17 Ni JCN-A=*+6X%17 Ni & 66
315 k-07-2 |JCN-B®6x12 GB JCN-B®6 %12 GB & 62
315| K-07-2 |JCN-B®6 x 12 Ni JCN-B®6 x 12 Ni & 62
315| K-07-2 |[JCN-B®6x17 GB JCN-B®6 x 17 GB & 66
315| K-07-2 |JCN-B®6 %17 Ni JCN-B®6 x 17 Ni & 66
316| K-13-1 |[JCB-B=*6x15 GB JCB-B=*+6x 15 GB & 34
316| K-13-1 [JCB-B=%6x 15 Ni JCB-B=+6 % 15 Ni & 34
316/ K-13-1 [JCB-B=*6X30 GB JCB-B*+6 X 30 GB & 42
316/ K-13-1 [JCB-B=*6 X 30 Ni JCB-B=*6 X 30 Ni & 42
316/ K-13-1 [JCB-B=*x6X35 GB JCB-B*+6 X 35 GB & 42
316/ K-13-1 [JCB-B=*6 X35 Ni JCB-B=*6 X 35 Ni & 42
316/ K-13-1 [JCB-B=*6X40 GB JCB-B*+6 X 40 GB & 42
316/ K-13-1 [JCB-B=*6 X 40 Ni JCB-B=*6 X 40 Ni & 42
316/ K-13-1 [JCB-B=*6X45 GB JCB-B+6 X 45 GB & 48
316/ K-13-1 [JCB-B=*6 X 45 Ni JCB-B=*6 X 45 Ni & 48
316] K-13-1 |[JCB-B=*6x50 GB JCB-B=+6 x50 GB & 52
316] K-13-1 [JCB-B=6 x50 Ni JCB-B=+6 % 50 Ni & 52
316/ K-13-1 [JCB-B=*6X60 GB JCB-B*+6 X 60 GB & 60

Circle




H—4)LHB0O%5 Vol 125E [l 3%

316/ K-13-1 [JCB-B=6x60 Ni JCB-B=+6 X 60 Ni & 60
316/ K-13-1 [JCB-B=%=6x70 GB JCB-Bx6x 70 GB & 72
316| K-13-1 [JCB-B=6x70 Ni JCB-B=6 X 70 Ni & 72
316| K-13-1 |[JCB-B®6 x 15 GB JCB-B®6 x 15 GB & 34
316| K-13-1 [JCB-B®?6 x 15 Ni JCB-B®)6 X 15 Ni & 34
316| K-13-1 |[JCB-B®?6 x 30 GB JCB-B®6 % 30 GB & 42
316| K-13-1 [JCB-B®?6 x 30 Ni JCB-B®6 % 30 Ni & 42
316| K-13-1 |[JCB-B®#6 x 35 GB JCB-B®)6 % 35 GB & 42
316| K-13-1 [JCB-B®S6 x 35 Ni JCB-B®)6 % 35 Ni & 42
316| K-13-1 |[JCB-B®#6 x 40 GB JCB-B®)6 % 40 GB & 42
316| K-13-1 |JCB-B®?6 x 40 Ni JCB-B®)6 % 40 Ni = 42
316| K-13-1 |[JCB-B®6 x 45 GB JCB-B®)6 x 45 GB & 48
316| K=13-1 [JCB-B®6 x 45 Ni JCB-B®)6 X 45 Ni & 48
316| K-13-1 |[JCB-B®?6 x 50 GB JCB-B®6 % 50 GB & 52
316| K-13-1 [JCB-B®?6 x 50 Ni JCB-B®6 X 50 Ni & 52
316| K-13-1 |[JCB-B®?6 x 60 GB JCB-B®)6 % 60 GB e 60
316| K-13-1 [JCB-B®?6 x 60 Ni JCB-B®)6 X 60 Ni & 60
316| K-13-1 |[JCB-B®#6 x 70 GB JCB-B®)6 x 70 GB e 72
316| K-13-1 |JCB-B®?6 x 70 Ni JCB-B®6 % 70 Ni e 72
316] K-13-2 [GTC M6x10 BL }BIEEECAPE'R M6 2 1@ 48
316/ K-13-2 |GTC M6x10 UC B{EEECAPE'A M6 1240 & 96
316] K-13-2 [GTC M6x12 BL IB{EEECAPE'A M6 £ & 80
316/ K-13-2 |GTC M6x12 UC B{EEECAPE'A M6 1240 & 08
316] K-13-2 [GTC M6x16 BL IB{EEECAPE'Z M6 £ & 84
316] K-13-2 |GTC M6x16 UC FB{EEECAPE'A M6 1=/0 & 104
316] K-13-2 |GTC M6 x 20 BL B{EEECAPE'ZA M6 2 1& 86
316] K-13-2 |GTC M6 x20 UC W{EEECAPE'A M6 1240 & 110
316] K-13-2 [GTC M6 x25 BL IB{EEECAPE'A M6 £ & 92
316/ K=13-2 |GTC M6x25 UC B{EEECAPE'A M6 1240 & 122
316] K-13-2 [GTC M6 x 30 BL IB{EEECAPE'A M6 £ & 110
316/ K=13-2 |GTC M6 x30 UC B{EEECAPE'A M6 1240 & 150
316| K-13-2 |[GTC M6 x6 BL }BIEEECAPE'R M6 2 1 120
316/ K-13-2 |GTC M6x6 UC B{EEECAPE'A M6 1240 & 162
316| K-13-2 [GTC M6x8 BL }BIEEECAPE'R M6 2 1& 46
316/ K-13-2 |GTC M6x8 UC B{EEECAPE'A M6 1240 & 92
316] K-13-3 [GTC M8x 10 BL IB{EEECAPE'A M8 £ & 176
316/ K-13-3 |GTC M8x 10 UC B{EEECAPE'A M8 1240 & 230
316| K-13-3 |[GTC M8x 12 BL }BIEEECAPE'R M8 2 1 134
316/ K-13-3 |GTC M8x12 UC B{EEECAPE'A M8 1240 & 180
316] K-13-3 [GTC M8x 16 BL IB{EEECAPE'A M8 £ & 138
316/ K-13-3 |GTC M8Xx 16 UC B{EEECAPE'A M8 1240 & 186
316] K-13-3 [GTC M8x20 BL IB{EEECAPE'A M8 £ & 140
316/ K=13-3 |GTC M8Xx20 UC B{EEECAPE'A M8 1240 & 188

Circle




H—4)LHB0O%5 Vol 125E [l 3%
[~y [ v [ && | &% | ®B& [ fi# |

316] K-13-3 [GTC M8x25 BL }B{EEECAPE'A M8 2 1@ 144
316| K-13-3 [GTC M8x25 UC IB{EEECAPE'A M8 1240 & 194
316] K-13-3 [GTC M8x30 BL }B{EEECAPE'A M8 2 & 156
316] K-13-3 |GTC M8x30 UC B{EEECAPE'A M8 1240 & 198
316| K-13-3 [GTC M8x38 BL }B{EEECAPE'A M8 2 & 180
316] K-13-3 [GTC M8x8 UC IB{EEECAPE'A M8 1240 & 2392
317| K-08-1 [A4X10 BE A4x10 & 29
317| K-08-1 |A6Xx10 BB A6x10 & 30
317] K-08-1 |A6x13 BHE A6x13 & 30
317| K-08-2 |B8x13.5 # B B8x135 & 392
317| K-08-3 [D10X13 8B D10x13 1@ 44
317| K-08-3 [D4X20 B D4x20 1@ 30
317| K-08-3 [D5X13 B D5x13 1@ 392
317| K-08-3 |D6x10 B D6x10 1@ 30
317| K-08-3 [D6X13 B D6x13 1@ 34
317| K-08-3 [D6X16 B D6x16 1@ 36
317| K-08-3 [D6X20 B D6x20 1@ 38
317] K-08-3 [D6x25 B D6x25 1@ 44
317| K-08-3 [D8X13 B D8x13 1@ 36
317| K-08-3 [D8X25 B D8x25 1@ 56
317] K-08-4 |E4x10 BB E4x10 & 24
317| K-08-4 [E6X13 B E6x13 & 30
317| K-08-4 [E6X20 BB E6x20 & 36
317| K-08-4 [E8X13 B E8x13 & 34
317| K-08-4 [E8X20 BB E8x20 & 44
317| K-08-4 [E8X25 B E8x25 & 48
318] K-14-1 [011.00.214 BEE+Y Y{FANF4N'—[IEE/DIN 97 2.5% 12 (5004 AY) & 22,620
318 K-14-1 [011.00.232 EE4Y ¥{FANF4N'—IEE/DIN 97 2.5%16 (5004 AY) ] 15,480
318 K-14-1 (011.00.241 BRE+Y ¥4FAN54~ILEE/DIN 97 2520 (5004 AY) ] 24,470
318| K-14-1 [011.00.438 BEE4Y FANFAN—MFE/DIN 97 2.5%30 (200K AY) & 5,980
318 K-14-1 |011.00.447 BEE+Y Y{FANF4N'—[IEE/DIN 97 3.0%20 (2004 AY) & 7,380
318| K-14-1 [011.00.458 BEE4Y FANFAN—MFE/DIN 97 3.0x25 (200K AY) & 9,000
318] K-14-1 [011.00.529 BEE4Y ¥FANFAN'~MEE/DIN 97 3.0x16 (200KAY) & 6,200
318] K-14-1 [011.00.538 BEE4Y ¥FANFAN~MEE/DIN 97 3.5%20 (200KAY) & 5.960
318| K-14-1 [011.00.547 BEE4Y MFANFAN—MFE/DIN 97 3.5%25 (200K AY) & 8,670
318 K-14-1 [011.00.565 BE4Y FAN54N—MEE/DIN 97 3.5%35 (200&AY) ] 10,980
318 K-14-1 [011.00.629 BE4Y FAN54N—MEE/DIN 97 4.5%x40 (200KAY) ] 18,910
318 K-14-2 [011.20.216 BE+Y YAFANFAN—#LMEE/DIN 95 25x12 (500KAY) ] 14,530
318 K-14-2 [011.20.234 EE+Y YFANTAN—HLILEE/DIN 95 25X 16 (500K AY) ] 23,220
318] K=14-2 |011.20.243 EE+Y ¥FANTAN—HLILEE/DIN 95 25X 20 (500 AY) ] 18,690
318 K=14-2 |011.20.430 EE+Y YFANTAN—HLILEE/DIN 95 30X 16 (200K AY) ] 5,550
318 K=14-2 |011.20.447 EE+Y YFANTAN—HLILEE/DIN 95 3.0%20 (200K AY) ] 6,530
318 K-14-2 |011.20.458 EE+Y ¥4FANTAN—HLILEE/DIN 95 3.0%25 (200K AY) ] 7,620

Circle




H—4)LAHR045 Vol 12EfiFE

318 K-14-2 [011.20.529 B4y AFANF4N-#,MEA/DIN 95 35%16 (200&AY) & 6,670
318 K-14-2 [011.20.538 B4y AFANF{N— A, MEA/DIN 95 35%20 (200&AY) & 7,670
318 K-14-2 |011.20.547 B4y AFANFN— 4, MEA/DIN 95 35%25 (200&AY) & 9,580
318 K-14-2 [011.20.556 B4y AFANF4N— 4, MEA/DIN 95 35%30 (200&AY) & 10,790
318 K-14-2 [011.20.604 B4y AFANF{N— A, MEA/DIN 95 40x16 (200&AY) & 8,910
318 K-14-2 [011.20.605 B4y AFANF4N'— AL MEA/DIN 95 40%20 (200&AY) & 8,340
318 K-14-2 [011.20.609 B4y AFANF4N'—#LMEA/DIN 95 40x40 (200&AY) & 15,360
318] K-14-3 |69646 {efEE 2T BEfi/70—L 15x 15 A 300
318] K-14-3 |69647 efEE 2(EIT) BEf/70—L 15x 20 y:N 290
318] K-14-3 69648 efEE 2(EIME) BEfi/70—L 15x 25 y:N 310
318] K-14-3 69649 efEE 2(EIMT) BEfk//0—L 15x 30 N 330
318] K-14-3 69650 efEE 2(EIMT) BEf/70—L 19x20 N 350
318] K-14-3 [69651 efEE 2T BEfi/70—L 19x 25 N 370
318] K-14-3 69652 efEe 2(EIMT) BEfk/70—L 19x 30 y:N 400
318] K-14-3 69653 {efEE 2(EIME) BEfi/70—L 19x 35 y:N 410
318] K-14-3 [69654 efEE 2(EIMT) BEfR/70—L 19x 40 y:N 460
318] K-14-3 69655 bfEE 2(BI#E) BEfR//0—L 19x20 y:N 290
318] K-14-3 69670 EfEE 2(EIME) BEfik/70—L 19x 45 y:N 590
318| K-14-4 [69674 A-LybhE"A(B &) ATULA 15X 20 1@ 970
318| K-14-4 [69675 A-Lybe A(E4E) ATULR 15X 25 1@ 990
318| K-14-4 (69676 A-Lybe"A(B &) ATULA 20% 18 1& 1,070
318| K-14-4 |69677 A-Lybhe"A(E4E) ATULA 20 X 25 1@ 1,300
318] K-14-4 (69699 A-Lybhe"A(E4]) ATULA 15X 15 1@ 820
318] K-14-4 (69700 A-Lybhe"A(B4E) ATULA 20 X 30 1@ 1,400
319] K-12-1 [006.28.210 MLIA nUFEZ4N = T10 & 3,780
319] K-12-1 [006.28.211 MUIR nUNMFAN = T15 & 4,120
319] K-12-1 [006.28.212 PLOR nUNF 4= T20 & 3,930
319| K-12-1 [006.28.213 MUIR nUNMFAN— T25 & 4,470
319] K-12-1 [006.28.215 PLOR nUNF 48— T30 & 5,080
319] K-12-2 (019.01.900 RAN -MVYR/ILEE HBYIAH)T 43 40%25 (1000KAL) pey 16,790
319] K-12-2 (019.01.901 RAN -MVYR/ILEE HBYIAH)T 43 40%30 (1000KAY) pey 19,170
319] K-12-2 (019.01.902 RAN -MVYR/ILEE BYIAH)T 43 40%35 (1000KAL) pey 20,600
319| K-12-2 [019.01.903 AAN YA/ IEE $BYAH)THF 40%40 (500KAY) & 11,310
319] K-12-2 |019.01.904 RANbIVYR/IEE EYSAHT (40X 45 (500KAY) i 12,500
319] K-12-2 [019.01.905 RANbILYR/IEE EY3AHYT{ 40x50 (500KAY) i 13,100
319] K-12-2 |019.01.907 RANbIVYR/IEE $EY3AHT (40X 60 (500KAY) i 17,380
319 K-12-2 [019.01.908 KRN -MVYA/IEE FEYRHAYTfH 40x70 (200KAY) 58 8,650
319] K-12-2 [019.01.923 AAN YA/ IEE $BYAH)THF 45%50 (500KAY) & 19,110
319| K-12-2 [019.01.924 AAN -MLYR/IEE EYIASBYT fH 4560 (200KAY) & 8,100
319] K-12-2 [019.01.943 KRN MLYA/ILEE PEYIAAY7fF 5.0x70 (200K AY) & 10,480
319] K-12-2 |019.01.944 RANbIVYR/IEE EY3AHT{$ 5.0X80 (200KAY) i 12,170
319] K-12-3 [015.73.526 MLOZ-EEERAvE 3.0x 13 (1000 ALY)) Ee 9,530
319] K-12-3 [015.73.535 MLYZ-EEEAAvF 3.0% 15 (1000AKALY)) Ee 10,720

Circle




H—2J)LHR0OT Vol 125 ffi 3k
[~ [ [ && ] && [ Ba [ @@ |

319| K-12-3 [015.73.544 MUR-BERMF 30Xx17 BEER i 4,000
319| K-12-3 [015.73.553 MLOZ-BEERAvF 3.0x20 (10004 AY) 78 9,530
319] K-12-3 [015.73.571 MLOZ-BEERAvF 3.0x25 (10004 AY) 78 10,110
319 K-12-3 [015.73.624 MUOR-EEER 9F 35%13 (1000 AY) & 11,910
319| K-12-3 [015.73.633 MULOZ-BEERAvF 3.5%x15 (10004 AY) 78 4,770
319| K-12-3 [015.73.642 MUR-BEERMF 35%x17 BRES & 4,000
319] K-12-3 [015.73.651 MLOZ-BEERAvF 3.5%x20 (10004 AY) 78 4,880
319| K-12-3 [015.73.679 MULOZ-BEERAvF 3.5%x25 (10004 AY) 7 5,960
319 K-12-3 |015.73.688 MUOA-EEER 9F 35%30 (1000A&AL) & 12,030
319] K-12-3 [015.73.697 MLOZ-BEERAvF 3.5%x35 (10004 AY) 78 13,100
319| K-12-3 [015.73.820 MLOZ-BEERA9F 4.0x15 (10004 AY) 78 6,000
319| K-12-3 [015.73.839 MULOZ-BEERA9F 4.0x17 (10004 AY) 78 6,000
319 K-12-3 |015.73.848 MUOA-EEER 9% 4.0%20 (1000 AY) & 6,090
319| K-12-3 [015.73.857 MULOZ-BEERA9F 4.0x25 (10004 AY) 78 14,650
319 K=12-3 |015.73.866 MUOA-FEER 9E 4.0%30 (1000 AL) & 8,000
319] K-12-3 [015.73.875 MLOR-BEERAvE 4.0%x35 (500K ALY)) 78 8,930
319| K-12-3 [015.73.884 MLOR-BEERAvE 4.0x40 (500K ALY)) 78 4,770
319 K=12-3 |015.73.928 MUOR-EEER 9E 45%20 (1000 AL) & 16,670
319] K-12-3 [015.73.937 MLOA-EEERAvF 45%25 (1000 AL)) 78 16,790
319] K-12-3 [015.73.946 MLOR-BEERAvF 45%x30 (500K ALY)) 78 10,120
319] K-12-3 [015.73.955 MLOR-BEERAvF 45%x35 (500K ALY)) 78 5,360
319] K-12-3 [015.73.961 MLOR-BFEEAAYF 45%x50 (500K ALY)) 78 15,900
319| K-12-3 [015.74.050 MLOZ-BEERA9F 5.0x17 (10004 AY) 78 9,530
319| K-12-3 [015.74.078 MLOZ-BEERA9F 5.0%x20 (10004 AY) 78 18,810
319] K-12-3 |015.74.096 MLOR-BEERAvF 5.0%x30 (500K ALY)) 78 13,100
319] K-12-3 |015.74.112 MUOA-FEER 9F 5.0%40 (500K AL) 78 15,480
319] K-12-3 [015.74.130 MLOR-FEEAAvF 5.0%x50 (2004 ALY) 78 7,380
319| K-12-3 [015.74.132 MLOR-FEEAAvF 5.0%x60 (200K ALY)) 78 8,580
319] K-12-3 [015.74.154 MLOR-BFEEAAvF 6.0%x 40 (200K ALY)) 78 3,600
319 K=12-3 |015.74.158 MUOA-FEER 9F 6.0X60 (200K AL) & 13,030
319 K=12-3 |015.74.160 MUOA-FEER 9F 6.0X70 (200K AL) & 13,460
320/ K-09-1 |PBS-3.0x12U N—=FE'A M 30x12 1240 X 11,905
320 K-09-1 |PBS-3.0x 14U N=FEA M 3.0x14 14O X 11,667
320/ K-09-1 |PBS-3.0x 16U N—=FE'A M 30x16 1z40O X 10,715
320/ K-09-1 |PBS-3.0x20U N—=FE'A @M 3.0x20 1240 X 8,120
320/ K-09-1 |PBS-3.0x 25U N—=FE'A @M 30x25 1240 X 6,860
320/ K-09-1 |PBS-3.0x 30U N—=FE'A M 3.0x30 1z4MO X 7,000
320/ K-09-1 |PBS-3.0x 35U N—=FE'A @M 3.0x35 1240 X 5,835
320/ K-09-1 |PBS-3.0x40U N—=FE'A @M 3.0x40 1-40O X 5,525
320 K-09-2 |PBS-3.0x 12N N—FE'Z I 3.0%x12 Ni Vi 14,762
320 K-09-2 |PBS-3.0x 14N N—FE'A I 3.0%x14 Ni Vi 14,167
320 K-09-2 |PBS-3.0x 16N N—FE'A I 3.0%x16 Ni Vi 12,145
320 K-09-2 |PBS-3.0x 20N N—FE'A I 3.0%20 Ni Vi 9,690

Circle



H—4)LAA0%5 Vol 12T+
[~~~ T+ [ & [  && | #f [ @ |

320] K-09-2 |PBS-3.0x 25N N=FE'A M 3.0x25 Ni A 7.810
320] K-09-2 |PBS-3.0 X 30N N=FE'A M 3.0x30 Ni A 7.668
320| Kk-09-3 |PBS-3.5x12U N—=FE'A M 35%12 1=%n N 10,286
320 K-09-3 [PBS-3.5x 14U N—FE'A M 35%14 1=4n . 10,715
320| K-09-3 |PBS-3.5x16U N=FE'A M 35x%16 1=4A p. 9228
320 K-09-3 |PBS-3.5x 20U N—=FE'A @M 35x%20 1240 A 6,858
320| K-09-3 |PBS-3.5x25U N=FE'A M 35x%25 1-4A p: 6,430
320| K-09-3 |PBS-3.5x30U N=FE'A M 35x%30 1=%A p: 6,000
320 K-09-3 |PBS-3.5x 35U N—=FE'A @M 35%35 1240 A 5,358
320| K-09-3 [PBS-3.5x40U N—-FE'A I 35x40 1=4n VN 4,834
320| K-09-4 [PBS-3.5x 12N N-FE'A M 35x12 Ni X 11,430
320] K-09-4 [PBS-3.5x 14N N—FE'A I 35x14 Ni S 10,120
320| K-09-4 [PBS-3.5x 16N N—FE'A I 35%x16 Ni X 7.715
320| K-09-4 [PBS-3.5x20N N—FE'A I 35%20 Ni X 7.144
320| K-09-4 [PBS-3.5x25N N—FE'A @ 35%x25 Ni X 7.144
320| K-09-4 [PBS-3.5x 30N N—FE'A I 35%x30 Ni X 8,096
320| K-09-5 |PBT-3.5x12U N=FE'R FA 35x12 12)A PN 8.096
320/ K-09-5 [PBT-3.5x14U N=FE'RA A 35x14 12)0 Y. N 7.500
320/ K-09-5 |[PBT-3.5x16U N=FE'R A 35x16 1=)A Y. N 7.239
320/ K-09-5 [PBT-3.5x20U N=FE'RA A 35x%20 1z/A Y. N 7.335
320| K-09-6 |WR25ZT 1-AALyN fEFRFE 25 i\ 3,550
320| K-09-6 |WR28ZT 1-AALyN fEFAFE 28 i\ 3,870
320| K-09-6 |WR32ZT 1-AALyN fEFRFE 32 i\ 3,870
320| K-09-6 |WR38ZT 1-AALyN fEFAFE 38 i\ 3,870
320| K-09-6 |WR41ZT 1-AALyN fERFE 41 i\ 3,870
320| K-09-6 |WR45ZT 1-AALyN fEFFE 45 i\ 3,870
320| K-09-6 |WR51ZT 1-AALyN fEFRFE 51 i\ 3,870
320| K-09-6 |WR57ZT 1-AALyN fEFRFE 57 i\ 3,870
320| K-09-6 [WR65HT 1-AALyN fEFFE 65 i\ 2,590
320| K-09-6 [WR75HT 1-AALyN fEFRFE 75 i\ 2,590
320| K-09-6 [WR9OOHT 1-AALyN fEFFE 90 i\ 2,590
320] K-09-7 |SR25T AJLARLYE 25 7 3,100
320] K-09-7 |SR30T AJLALYE 30 7 3,100
320] K-09-7 |SR35T AJLALYE 35 7 3,100
320| K-09-7 |SR40T AJLALYE 40 7 3,100
320] K-09-7 |SR45T AJLARLYE 45 7 3,100
320/ K-09-7 |SRS0T AJLARLYE 50 7 3,100
320] K-09-7 |SR55T AJLALYE 55 7 3,100
320/ K-09-7 |SR60T AJLALYE 60 7 3,100
320| K-09-7 |SR65T AJLALYE 65 7 3,100
320| K-09-7 |SR70T AJLRLYE 70 7 3,100
320] K-09-7 |SR75T AJLARLYE 75 7 3,100
320/ K-09-7 |SR90T AJLALYE 90 7 3,100

Circle



H—4I)Lh%0%5 Vol 125l R
[~y [ v [ && [ &% | ®B& [ fi# |

320 K-09-8 [20%x16 GB b7°A9)1— 20%x16 GB KEERY 7 2,260
320| K-09-8 [2.0%x16 Ni b7°A9Y2— 2.0%16 Ni XEERY 7 2,260
320 K-09-8 [2.0%x16 4mi—} b7 29— 20%x16 40i—k XKIEERY 7 2,260
320 K-09-8 [20%x19 GB b7°A9)1— 20%19 GB KEERY 7 2,260
320| K-09-8 [2.0%x19 Ni b7°A9Y2— 2.0%19 Ni XEERY 78 2,260
320 K-09-8 [2.0%x19 4pmi—} b7 22— 20%x19 HOi—b  XEERY 78 2,260
320 K-09-8 [20x24 GB b7°29)1— 2.0%24 GB XIEERY & 2,260
320| K-09-8 [2.0%x24 Ni b7°A9Ya1— 2.0%24 Ni XEERY 7 2,260
320 K-09-8 [2.0%x24 Hpi-} b7 A9Y1— 20x24 40i—b  NIEERY 78 2,260
320 K-09-8 [2.0x27 GB by7°29Y1— 2.0%27 GB XIEERY & 2,260
320 K-09-8 [2.0%27 Ni b7°AHYa— 2.0%27 Ni XEERY & 2,260
320l K-09-8 [2.0x27 #Hmi-t b7 A91— 20%x27 H0i—b  KIEEFRY #a 2,260
320| K-09-8 [2.0x36 GB by7°29)1— 2.0%36 GB XIEERY & 2,260
320| K-09-8 [2.0%x36 Ni b7°29Y2— 2.0%36 Ni XEERY 78 2,260
320 K-09-8 [2.0%x36 4pi—} b7°A9Y1— 20%x36 40i—b NIEERY 78 2,260

Circle



